Free Response
Hardy-Weinberg
Section II of the AP Exam lasts 1 hour and 20 minutes (plus a 10 minute reading period), and contains 8 questions consisting of 2 long free response questions and 6 short free response questions. Total, this section will count as 50% of the AP Exam. 

You are given a practice question that covers Hardy-Weinberg. Take 5 minutes to organize your thoughts directly on this paper. Then using a blank sheet of paper, write a response to each question. Organize it so that you are using (a), (b), and (c) in your response so the reader can easily see what you are answering. Staple your response behind this paper and turn it in. 
---------------------------------------------------------------------------------------------------------------------------------------

Evolution is one of the unifying themes of Biology. Evolution involves the change in the frequencies of alleles in a population. For a particular genetic locus in a population, the frequency of the recessive allele (a) is 0.4 and the frequency of the dominant allele (A) is 0.6.
(a) What is the frequency of each genotype (AA, Aa, aa) in this population? What is the frequency of the dominant phenotype?
(b) How can the Hardy-Weinberg principle of genetic equilibrium be used to determine whether this population is evolving?
(c) Identify a particular environmental change and describe how it might alter allelic frequencies in this population. Explain which condition of the Hardy-Weinberg principle would not be met.
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